
EA SSE&NIUNEVS&S_IT-V", S&{ I:AI[KA'

{ACUrTy 0{. c SMMERSE AryU- MAryAGE_MSrqg
SIMrr,YEA&EIRS?SSE4E$-?.IEBEXAMINA_TIALHI{

tsAcHEI,qB-qEcoe{ME&eE-fgs'ryQlR$)-w-su$ry-sslrc-oryQ}-ff e$-20?1/2024
{EEB_R_{iA&Y&!4.BCIfl , 2 0? 4}

{rR-o-_FE&

ECN 4T63 * FUET,IC SECTOR" ECONOMTCS

Answer all qwestiows. Tirne: fhrce leours"
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Qr.

1)
Outline the diraensicns of the public sector. (03 Marks)
What is the relationship between the pu"oiic sector and the econorrr,v? (S3 iVEarksi

a)
D.l

2)

3)

a)

h)

Define'Cc,st-Benefit Analysis'.

Enurnerate basie features of, ecst-benefit analysis.

Explain tire problern of 'Tragedy of the Comrnons'.

tsriefl;z cliscuss the r,vays bv which it can be avoided.

(t)3 [da.rks]

(03 MarE<s]

(05lVnarks;

(03 Marks)

iTotal20 Marks)

a)

wj

Qr.

1) (04 htEarks)

a) Differentiaie between the negative consurnption externali$, and the positive
production externaligr. (03 Marks)

b) In each case, explain why the market fails. (02 Marks)
c) Recommend at least one possible policy action to corect the above rnarket failure"

ry\ 
({}1 Marks)

a) Characterize 'Fareto Efficient Allocation'. (03 Marks)
b) Using appropriate diagrarn, show how that ttre market equilibrinm is Pareto

efficient. {S4 Marks)



3)

a) what are the basic unique features of public goods and private goods?

b) How may private prcvision of a
Give three examples.

(03 Marks)
public good overcome the free rider problem?

{04 Marks)
{Total20 Marks)

Qs.

1)

a) which determines the optirnum level of public expenditure? (t)3 Marks)h) Briefly examine the effects of puhlic expendituraon production and distribution of
resources in an econorny. (04 Marks)

Qa"

2j

3)

1)

aj

a) Why government fails to achieve efficiency?Give reasons.b) Fiighlight the solutions to the prob,rem of govemment failure"

Briefly point out the important netbrms introduced in respect of
Governrnent of Sri Lanka,s tsridget for 2A23-2024.

a) Define 'Dead Weight Loss, with example"
b) F[ow does competitive markef deliver the efficient quantify?

(S3 Nlarks)
(S4 Marks)

direct taxes in the

(06 Marks)

(Total20 Marks)

(03 Marks)
({}3 Marks)

(03lVlarks)
rnaxirnising point oi

(S4 iV{arks)

interest?
(03 Marks)

Iobby great influence over
(04 Marks)

{T'otatr 20lVlarks)

a)
b)

What is the objective of the government intervention?
Using diagrarn, show how finns rnove frorn a profit
production to allocative efficiency.

a) why a democratio country by ntajority rule cannot prornote p*blio

b) F{ow has, as speciai interest group, the Buddhist monks,
the member of the parliament, in Sri Lanka?

3)



1)

2)

3)

a)
b)

a)
b)

a)
b)

Identifiz three characteristics of 'Good state Enterprise,. (03 Marks)
Do you think that state eraterprises deliver public services more efficientlv?

(0a"Vlarks)

!!v_*r merit goods r.mder-supplied in a free market economy? (0s Marlis)
Briefly comment on ci,rrent externar debt problem of sri Lanka. (03 Marks)

whaf is the role of deficit financing in fiscalpoiicy? (03 Marks)
Briefly explain 'Ability-to-pay and benefit p?incijles of taxation'. (04 Marksj

(Total20 Marks)


